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Simplification & Approximation by Alok sir Solutions

(E x(ﬂ %1800 = 7% 480
15. 1100 .
A A
12 ><(10><i % (5%120) = ? x4 x120
15 100
=(12><10><4><120)
(4 %120 %100)
 (12x10)

100

?

? =1.20

(72 x3=49x 57— 41x 18— 1380
(2)2 %3 = 2793 -738-1380 =675
(7?% =225
2=15
92 x27+3%x7+?2=592 =3481
2 -3481-92x27-33 %7
? =3481-2187-189 =1105
0.4%123.0.42%7 x0.41)%* % 0.41)%° = (0.4
©. 4)(3x123—2x47—'—1x34—'—1x29) = (0 '41)?
S0,?7=B8x%x123-2x47+1%x34+1x29)/1=338

6571+ 20 x400)
100

=7+241

?= =g io o -114.85
100 - 241

~ (13x560 x136)
(70 x34)
560" x(136‘

:]_3><[_ —
70 . 34 .

=13x8x4 =416

?

(7?2 =342 -922-83
=1156 — 22512 =622
? =25
?=3094+91x61- 26
=34 x61-26
= 2074 - 26 = 2048

?;(ﬂ +8><16—(@ +23
2 . 8 .

So,

=20+128-60+ 23
=111

A
? z(% ~5x11+31331

=70-55+11=26

(30 x~/529)
~100
Al
= (30 X 23
10 .

?

=69

12. 72[30 ><3000‘+ 589 —897
100 -
=900 +17-897 = 20
13. 25%of (?)2=7+£55=7+29=36
92 _36x 190 _ 144
25
2-12
14. ? =195x16 + 290 x5
=3120 +1450 = 4570
15. 162 = 256,4* = 256,13°% = 2197
? =~ 256 -4 +13 = 265
16. 7| L12XI85) |, (51493 _212)
16 x37)
_|112x185) | o1, 799 _ 441)
(16 x37)
_[a12x185) ] ,00
(16 x37)
=309 X(E x(@
16 137.

=309 x7x5=10815
17. ?
=~ 550 % 25 + 232 —15% —~32- /676
=22+ 529 —3375-32—-26
= -2882
18. 262 =676,47% = 2209,27% =729
102 =1000,173 = 4913,302 =900
2 =676 + 31000 + /2209 +302
+/729 + %4913
=26+10+47+900 + 27+ 17
=1027

19. 2=3812-342+252+8%-103
=961-1156 + 625+ 512—1000
=-58

20. 2% 27 = 47X 40 + 22X66 + 70 x39 — 14

7% 27 =1880 + 1452+ 2730 —-14

7% 27 =6048
7= il 224
27

21. ?=(35x 560/100) - (30 % 760/100) +(80 x 1030/100)

—(45 x 800/100)
:[19600‘ _[ 22800 [ 82400 " ( 36000 "
100 100 100 100

=196 — 228 + 824 —360 = 432




22,

23.

24,

25.

26.

27.

28.

29.

30.

31.

32.

A hl
?=(Q +12x7—[% +11
2 . 7 .

=60+84-35+11=120
Y
7= (% -4x14++324
]

=110-56+18="72
(M2 +?=132+222 +2715-12°

=169 + 484 + 2715-1728 =1640
By substituting the given options, we have ? =40
?7=48+41x779 + 55+36 X648+ 12+47 %799
= (48 x779/41) + (55 x648/36) + (12 x799/47)
=(48%x779/41) + (55 X648/36) + (12 X799/47)
=(48%19) + (65x18) + (12x17)
=912+990 + 204 =2106

Al Al Al
?=(40><—54O +(29-><£8 -(14><5_25

27 . 34 . 35 .
—[40x 320 4 295 A8 (145525
27 34 . 35

= (40 x 20) + (29 x 22) — (14 x15)
=800 +638—210 = 1228
213 =9261,34% =39304,322 =1024,25% =625
2+ 73 = 02613 + 339304 + /1024 + 113+ 252 + 2550
(2+ 73 =21+34+32+113+625 + 2550 =3375
Now, 153 =3375
So, (2+?)=150r?=13
622 =3844,462 = 2116,512 = 2601,11% = 121,152
=29225,52 =25
J(?) = /3844 /2116 - 512 —[121 -15% + /25
J(?) =62x46 -2601-11-225+5
J(2) =20 or ? =400
882 =17744,76% = 5776,71% = 5041
103 =1000,123 =1728,222 = 484
? =/7744 - %1000 + /5776 — 222 — /5041 - 31728
=88-10+76-484 -71-12=-413

7% 26 =34 x41+65x29 -45%x39-16
7% 26 =1394 +1885-1755-16

7% 26 = 1508
71508 _5g
26
7-1769+61-11
—29-11-18

502 = 2500, 452 = 2025, 67° = 4489
? = /2500 —/2025 + /4489

33.

34.

35.

36.

37.

38.

39.

=50-45+67="72
18% = 5832, 113 =1331, 3% =27
? = ¥5832 + ¥1331 - ¥/27
-18+11-3=26
? =222 -382 + 162
= 484 —1444 + 256 =704

_(34x20-0)
20

?

_(680-0) _680 _
20 20

34

vm(80x785‘+(5x640\
) 100 100

:[62800‘ +(3200‘
100 100

=628+32 =660
?=45x42-13x8

=1890 —104 = 1786
(7% ~39% - 2373

=1521-23-343 =1155
So, ?=34

?=3900+65x45-29

=60 x42-29 = 2520 —29 = 2491

40.

41.

42,

43.

44,

45.

,_ (19 x108x60)

(18 x15)
=19 x [% W (@
18 . 115.
=19x6 x4 =456
o _ (19 X144 % 292)
’ (18x73)
“19x (14" (202
18 .\ 73 .
=19x8x4 =608
2 —g950-02+0.73) _59r0.75 _ gor3/4
Since, 62514 =5 2=5% =125

2=212 42922 + 242
=411+484 + 576 =1501

?7="72 x(? —+/676

=24x10-26 =240 -26 = 214

?=(@ +12><9-(300 + 42
6 . 5 .

=30+108-60 +42=120



